0000 0000
= GRS

Bx-Bn

I
2

J—I A A=

K 3k 5k ok sk sk ook ok ok sk sk sk ok sk skosk ok sk sk sk sk ok sk sk skosk sk sk sk sk skosk ok
K 3k 5k ok sk osk ook ok ok sk sk sk ok sk skosk sk sk sk sk sk ok sk sk skosk ok sk sk sk skosk ok
K 3k 5k ok sk sk ook sk ok sk sk sk sk ok sk sk sk sk sk sk skosk ok sk sk sk sk sk sk sk sk skosk ok

%k 3k kook skosk sk sk ok ok skoskosk sk sk sk skosk ok sk sk sk sk sk sk skook ok sk sk sk skok sk
>k 3k 5k sk skoskosk sk ok skoskoskoskook sk sk skosk sk sk sk sk sk sk sk skosk ok sk sk ok skosk sk
>k 3k 5k sk skoskosk sk ok sk skosk sk ok sk sk skosk sk sk skosk sk sk sk skosk ok sk sk sk skosk sk

HRE
% 5k ok ok ok ok ok ok ok ok ok

3k 5k ok sk sk ok ok ok sk sk ok ok
3k 5k ok sk sk ook ok ok sk ok ok k
3k 5k ok sk osk ok ok ok sk ok ok k

%k ok ok ok ok ok ok ok ok ok ok ok

3k 5k ok skosk sk ook ok ok ok koK
3k 5k ok skosk sk ook ok ok ok koK
3k 5k ok sk osk sk ook ok ok ok koK

%k ok ok ok ok ok ok ok ok ok ok

%k >k 5k >k ok ok sk ok sk ok kock ok
%k >k 5k >k ok ok sk ok sk k ok ock ok
%k 3k 5k >k ok ok sk ok sk ok ok ock ok

iR
sk sk sk 5k 3k sk sk 5k 3k sk sk k k sk sk sk 5k 3k sk sk 5k 3k sk sk 5k
sk sk sk 5k 3k sk sk 5k 3k sk sk k k sk sk sk 5k 3k sk sk 5k 3k sk sk 5k
sk sk sk 5k 3k sk sk 5k 3k sk sk 5k k P | sk sk sk sk sk sk sk sk sk sk sk ok ok
BREIEE HBEIR O ENER
% % % % % % K % % % % % % % % % % % K % %
:i:i:i: P RFFFROKKK s %k % % % % % % % % % % %
% % % % % % k % % % % % % % % % % % % % %
AT331—=)
75 8s Og 105 11s 125 15
% % %k %
% %k %k % % %k %k %
% %k %k % % 5k %k %

BETFH sk sk 3k sk 5k k %k
s 3k sk 5k %k 5k %k k

%k %k 3k sk osk ok okok




EhecTEE
<Jd=IAIAX—=T> <IHIR> <IRIRDFEE >
% sk sk %k sk %k %k k % sk sk %k sk sk %k 5k k% % sk sk %k sk sk %k 5k sk k%
% sk sk %k sk %k %k k % sk sk %k sk sk %k sk k% % sk sk %k sk sk %k 5k sk k%
% sk %k %k 5k %k k k % sk %k %k 5k %k %k 5k k % % sk sk %k sk sk %k 5k sk k%
AT331—=)
7s 8s 95 105 11s 125 15
% % %
% % % % % %
% % % % % %
|
SR (B 1)
(IRHIE )
* %k % 5k sk sk sk okok ok
% % % %
e o % %k %k %k 5k %k %
% % % % % %
% %k %k %k 5k %k %
% % %
A B C D E
207 S L5E5 (TOT3S LEEE)
(FALRTT1—)) @. %k %k sk %k %k k %
@. % %k %k % sk % k
TIME LAP PROGRAM | S S
3. %k %k sk %k sk k k
12:30 30 kkkkk |
13:00 | 30 ok o ok K e
13:30 skkskxsk | TTTTTTTmTToTomTTmmTmmmommmmmmmmmoTommTmT
30 @. %k %k % %k 5k k %
14:00 30 kkkkk 00| 0 CTTTTTTTToTTTTTTTTooTTTTTTTTo oo TTT I
14:30 30 % % % % % B). %k 3k %k 5k k 5k k
15:00 | 30 % ok e
15:30 30 5k ok sk sk sk ok ok ok
16:00 END sk %k % 3k %k %k % 3k %k %k % 3k %k % %
I ¥RER % 5k %k % % ok ok % & %
%k %k %k 5k %k % 5k %k % %
%k %k %k 5k %k % 5k %k % %




FryFIE—

+
ARIFI1RIL

—— M7 IE—(EERE)—

HEE - @O@@O@FOHOH(A)XX:XX~XX:XX
B=5 0000

T000-000 EFRHOOX MEHETX T BHxx-x
BEVEHTE S 03 -Xxxxx-Xxxx

O3 LR

ARIEIM1RIV

Eh1 XA—IHNEL Ehef X—IHNEL
SRS BBz

ERRVPEAICHEALEVNCE
(ERUTVWEE<BENHDENRLE)




=EnE AT AV RMARS

SEETT—k
EENBICDOWT
1. IBARE
BRRCET 1 2 3 4 5 BEECERHNO
O O O O O
pi::Jx ]
2. BRE
e T 1 2 3 4 5 WE CIRh o
O O O O O
1]
3. AViERER
mEU7 1 2 3 4 5 m_EULED DT
O O O O O
pi::Jx ]
HMICDOWT
4. DHYPTE
HHYPTH ST 1 2 3 4 5 nHhYISHh-o7=
O O O O O

F#HICDWVNT
5. RV IANE
+9Thor 1 2 3 4 5 +H TR
(FRULTLE)
O O O O O




000 000 000
XEOT S LERLR—~

Kt

JOJS5LHE

OIS LIRYEY

ABENEE




xYIRY &R
BXRDIRYERY
EHEE—&
1. % % % k % 4. % % % % %
2. % %k %k % 5. % % % % %
3. %k k %k k 6. % % % * %
BRHEE R EE

k3R ok sk sk sk ok sk ok sk
%k 3k sk ook sk skok skok sk

%k 3k sk ok sk sk sk ok sk sk sk ok
%k 3k sk ook sk ok skook skook skok

XETOTSLAR PT—MMER
KGL:ER % % % % % % % % %
B &k ok ok k% KPI:ERL ok %k %k ok %k sk %k %
Wk k ok ok ko
Bk okok ok ok ok
R B FERDIRET
SLLRTT1—)b KPTIL—LT—%

Keep 4 k4 44

Problem sk sk sk sk sk sk sk sk sk sk sk %

Try >k sk sk sk skosk >k %k sk sk skoskoskosk

00:00 | 00 SNS&I&
00:00 | 00’ LINESER
00:00 | 00’ EE2ES
00:00 END

KPTERIGECA & EWUXREHI—F

Keep

%k 3k 5k >k ok ok sk ok sk ok kock ok ok
%k 3k 5k >k ok ok sk ok sk k osk sk ok ok

Try

%k 3k 5k ok skosk sk ok ok skosk sk sk ok sk
%k 3k 5k ok skosk sk ok ok sk sk sk sk ok sk

Problem

%k 3k 5k 3k 5k ok sk ok sk ok osk sk ok ok
%k 3k %k >k 5k sk sk ok sk ok sk sk kok
%k 3k 5k 3k 5k ok sk ok sk ok osk sk ok ok




000 000 000
SIETOT S LM

XEIOJSLIEE

D.2HDFNEHI(55) @.@@@DURLFTHE (XE) (30%)
.0007TUDEEBB(158)  c-meemmmeemmeomeeeeee e

XETOT S LFHEEA
O.240RNZEH8A

RS FREES



